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2.

Read the following instructions carefully before you begin to answer the questions.

Important Instructions

The question paper is in the form of a booklet.

Immediately after commencement of the examination, check that the question booklet
does not have any unprinted or torn or missing pages or items. If so, get it replaced by
a complete question booklet.

Thequesﬁonpaperxsmthefmafabook!ct. Each question zspnmedbothmﬁmd; and

~ English. In all matters, the English version is final. Each question comprises four answers

8

9‘.

ie., (A), (B), (C) and (D). You will select the answer which you want to mark on the
Answer Sheet. In case you feel that there is more than one correct answer, mark the answer
which you consider the best. In any case, choose only one answer for each question.
PutyoursngnaturcmtheOMRnnswersiwetandthcamdames}mtngnbymc
invigilator.

i Ensweﬁzatthcmvwiatorhassxgxwdmm%mshm

Use BLACK INK BALL POINT PEN ONLY and avoid gel pens and fountain pm for
filling the OMR answer sheet.
Darken the circle on the OMR answer :beet complctely Don’t use whiteners, tick
mark or any other mark and half-filled circle.

‘No writing is permitted in the OMR answer sheet other than in the permitted spaces.
Do not use the OMR answer sheet for doing any rough work. Space for rough work is
appended in the question booklet at the end,

10. Do not fold or mutilate or make any stray marks on the OMR answer sheet.
11, Bach correct answer will carry ONE Mark. 0.33 mark will be deducted for each

incorrect/wrong answer.

12. Multiple answers for a question will be treated as WRONG ANSWER. Un-attcmpﬁod

qucsnonwiilcarryNGMARK

13. No candidate shall be allowed to leave the Examination Hall till the completion of the

examination.




A. The she fox

B. The lady fox

C. The vixen

D. No replacement required

3. Select the most appropriate meaning
- of the idiom “Cat got your tongue”.

A. Getcaught

B. Ata loss of words

C. Minding one’s own business
D. Encountered a huge loss

4. The word acquire is a verb, Which of
the following is its noun form? :

A. Acquisition
B. Acquired
C. Acquirement
D. Acquiring

5. Select the most appropriate meaning of
the idiom “The cold shoulder”.

A. Afraid of something
Bln Delibemtelyxgmm
oo Uncomfmub}q
D. Laziness

Part - 1 6. Choose the most appropriate word
General English that can substitute the group of words
“from which place”.
1. Select the mest pmte anmnym
of the word “M‘;’fi?;ﬂy" A. Whence
B. Vent
B. Naturally % Dty
C. Artificially , e
D. Innately 7z Select the most appropriate synonym
: of the word “Contentment”.
2. Choose the optum which bmt replaces
. the underlined phrase. _ A. Anguish
The female fox attacked the poor i Tay
animal. S Upget
D. Pleasure

8. Walk steadily, lest you
stumble.

B

A. Would
B. Should
C. Could
D. May

9. Choose the collective noun in the
“The students decided to join the
army after graduation”.

A. Students

B. Army.

C. Students and Army
D. Graduation

10. Identify the compound relative
pronoun in the sentence given below.
“I can honestly say that I have no
interest whatsoever in the royal
family”

A. lcan
B. Ihave
C. Royal family
D. Whatsoever




11. Choose the correct indirect form of the

sentence given below.
I said “Will you please give me your
valuable time?”

A. 1 said that if he would give me his
valuable time.

B. I requested him if he would give
me his valuable time.

_ C. Irequested him to give his valuable
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time.
D. 1asked that if he would give me his
valuable time.

In the given sentence identify the
segment  which contains  the
grammatical error: “You may left/ the
class /when you have /completed the
test.”

A. You may left

B. Completed the test
C. Theclass

D. When you have

There was a tailor who was known for
beating others in the art of being light-

' meaning of the word “light-fingered”

14.

gnwp

A, Lacking in maturity
B. Inclined to steal things

D. Free from seriousness

Identify the segment which contains
error. :

mm is not (1)/ a privilege but
the (2)/ organic necessity in (3)/ a free

society.

gva—\

15.

16.

In the given sentence, fill in the blank
with most appropriate alternatives.
“This time next year, I

London for 7 years”,

in

A. Will have been living
B. Will have lived

C. Will be living

D. Would have been

Replace the underlined words, with

. most appropriate alternatives.
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for a year when I was child.”

‘A. Had been living
B. Lived

C. Lives

D. Isliving

“My sister is very wise.” This sentence
is "mmve ﬁ‘e same
ing. Choose the mtappmpﬂa&

one,

A. My sister is keen.
B. My sister is not a fool.
C. My sister is very strong,

‘D. My sister is very literate.

18.

19.

Which one of the following words is
correctly spelt?

A, Unassailable
B. Unsailable
C. Unsiable
D. Unvisible

In the following given words find the
odd one out. V
Agreeable, Unreceptive.

b

Averse,




A. Hostile

B. Averse

C. Agreeable
D. Unreceptive

20. Choose the correct sentence showing
paradoxical situation.

A. More choices make you less
satisfied.

B. Practice brings perfection. :

C. Reading foster open-mindedness.

D, Failure is the stepping stzme to
- success.

Direction: Read the following passage

and answer the questions that follow.

There are people who think that __ (1)
won freedom, there is nothing more to do
about it. Freedom has come tous __ (2)
sacrifices. Those who made sacrifices
tasted the fruit of their efforts and self-

. denials, but it is for those who are now

enjoying freedom to taste its fruit. After
the last World War, there is an all-round
deterioration in human standards. People
have become self-centered. They have
forgotten or ignored the  (3) interests of

the country.

The essential and noteworthy features of
our struggle were: sacrifice, truth, and
non-violence. The weapons of the World
War were: violence, brute force, political
and military moves, and counter moves.
As a result of the _ (4) of the ocean, the
‘world has emitted poison. That poison is
spreading all over and there is none to
swallow it. The countries which were free

have managed to digest it somewhat, but

we, who have just attained our freedom; it
is hard to do the same. Therefore, those
who think that having attained freedom
they have attained everything have ___(5)
attained nothing!

21. Select the most appropriate option for
blank No. 1

A. Have
B. Had
C. Has

D. Having

22. Select the most appropriate option for
blank No. 2

A Of

B. Through
C. With

D. Along

23. Select the most appropriate option for
blank No. 3

A, More
B. Some
C. Few

D. Wider

24. Select the most appropriate opuon for
blank No. 4

A. Waves

B. Churning
C. Turmoil
D. Agitation

25. Select the most appropnate option for
blank No. 5

A. Abready
B. Greatly
C. Really

D. Widely




Part I
- General Intelligence and Reasoning

26. Arrange the following in a logical
order.

1. Police 2. Punishment
3. Crime 4. Justice
5. Judgement
26. Profafla & aifbe oo srafla &Y
1. gRs 2. el
3, WM 4 Ol
5. oy
" A 1,2345
B 31542
C. 31452
D. 54321

27. In a group of 100 employees, 60 are

engineers, 30 are managers, and 20 are
both engineers and managers. How
many employees are neither engineers
nor managers?

vxmwﬁamaswwﬁwm
& 30 vy §, 3R 20 AR oK
vaye aHl §1 el wied T @
TR § iR A d v

A 10
B
%0
D. 40

28. Find out the odd word in the given
alternatives.

2. 3w 7o e & R wee 319 P

A, Clarinet

B. Trumpet

C. Xylophone
~ D. Saxophone

- 29. Which one set of letters when

sequentially placed at the gaps in the
given letter series shall complete it?

ccbab__caa__bccc_a_

29. el 1 B W T e R o § oW
& M8 ieR gEen H oA R B
 EUY T TR
_ccbab_caa_beec_a_
* A. bbba
B. babb

C. baab
D. babc

30, Choose the odd one out from the
given option.

30, Ry Reea & @ Rwm
A 15:60
B. 12:48

e 138
D. 14:58

3LIn a chess tournament, Player A

. defeated Player B twice, Player B
dduﬁed?iayer(‘:mmd?hyac
- defeated Player D twice. If Player D
" didn't win any games, how many
games did Player A win?

31, U Y e B, R v R

 # G 9R g, Rardt @ A b §R
A & 7 s, IR Rerd & 2
Rt € # @ ar T oft AR d
A 91 g 9 e, & @ ¢ A e

one»
WD




32. Ram left home and walked 5 km
southward, turned right and goes
another 2 km and turned right and

“walked 5 km and turned left and
walked 5 km. How many km will he
have to walk to reach his home?

=

T A W B Ry ok 5 e gfgm
IR =t faa, g g8 M ok 2 feht
Ter 3R a1 §3 mar 9K 5 el ey
¢ g3 T 3R 5 R e e
R 7% Uget ¥ e IR e R

- AFAE?

A5
B. 7
Mg ¢
D. 15
A

series is given with one term

missing. Select the correct alternative

from the given ones that will complete
the series.

33. U@ ywen 4 ¥ § R e e e

81 Ry mu e § 3 9 Rew o
O B I YT B G B

IM,JO,?, 18, MU

A JP
B. 1O
C. KQ
D. KR

34. Which of the given option would be a

- 1. Decameter

¥

logical sequence of the following
words?

34. Prufdfls A § B9 o Ree Puffa

| BT b HH A

2. Millimet
3. Hectometer -4, Centimeter

5. Decimeter

3,1,54,2
35142
31,524
351,24

=R

35. There are two words to the left of the

sign :: which are connected in some
way. The same relationship obtains
between the third word and one of the
alternatives given below. Find the
correct alternative.

Oasis : Sand :: Island : ?

35. ﬁatwmam?ﬁrf&ﬁw

5 yopR A 93 gu ¥ A wsg iR
19 e o e # § ve Fdg o

- Ig) Wy e 81 U8 Rew @,

QOasis : Sand :: Island : ?

A. River
B. Sea

C. Water
D. Waves

36.Study the following information

carefully and answer the given
question.

If A x B means A is the father of B.

If A + B means A is the wife of B.

If A + B means A is the daughter of B.
IfA-Bmeans Aisthesonof B.

How is C related with A in the

_ expressionC+ExB-D+A?

36. FEfET I &1 wryde summ

X 3R Rum oy w1 Iw )

ok AxBErof A BETRGI R
gfe A+ B P14 A, BB TR B
A A+BHT A, BB THRE
TR A-BHTHIRA BHIG




TP C+ExB-D+AHC ARTPY

yeR Hefa &7

A. Daughter in law.
B. Daughter

C. Grand daughter
. D. Niece

37 Five policemen are standing in a row
facing south. Shekar is to the
immediate right of Dhanush. Bala is

between Basha and Dhanush. David is

'étﬂwextremetightendofﬂ\erow.
Who is standing in the middle of the
row?

37w el 2l oiR Hg aRE

&8 ) IR vy & & R ok B
1o aTen AR 4w & d §1 3RS ufea
¥ gad oA ¥R w ¥ dfe & & A
P T &

A. Bala

B. Basha
C. Shekar

- D. Dhanush

38. By mherd\angmg which 2 nﬁmim‘s,
- the value obtained after solving the
given equation will be 107

. 346424
38, 5w 2 el BT SEFLUEH B B,
f&u ¢ wefieu Bl gE A & 9] WG
HH 10 8

3+6+2%4

A 3and 6
B, 6and4
C. 3and2
D. 4and 2

39, If BROWN is written as ZPMUL, then
- VIOLET is coded as ; '

39, af BROWN St ZPMUL % &1 & forn
m%,awommmm‘%?

A. TGMJCR
* B. SGMJCQ

C. TGMJCQ
© D. TGWCQ

40. Which two numbers need to be
interchanged to make the given
equation correct?

73x6-9+2+ 3 =657

40, fw o weitevur @ w8 BeA & e e
3 el 3 3oy F seeE 8m?

73%6-9+2+3=657

A 69
B. 63
Coa3
D39

41. Pointing to a man in a photograph, a
* woman said, “His brother's father is
 the only son of my grandfather.” How

is the woman related to that man in
the photograph?

41, T Higen 3 oWl ¥ g goN W SR

TUR BIA U 58, TP WK & R

R T F g ¥ ¥ ok A e
goRHRASYTIRE Y

A. Mother
B. Aunt
C. Daughter
D. Sister
42. There are two set of letters to the left of
the sign ©: which are connected in some
‘way. The same relationship obtains




behwegn the third set of letter and one
of the alternatives given below. Find
the correct alternative.

BCDE: PORS : WXYZ : ?

i TR reR AGE gu ) R &
AR Fe ol A9 Ry o el A 0w
& dfg o o Wey o 1wl Ree
o, |

BCDE: PQRS :: WXYZ:?

A, EFGH
B. KLMN
C. QJsp

D TV

43, Find out the related number from the
given alternative.

43:57 =111 :?

43 Ry m Rew ¥ Y&6fm 4@ 39
- P

435711 :?

A. 135
B. 134

e

D 1%

44, In the following number series all are
related in a way. Find the one which is
not related.

529, 841, 961, 1296, 1681, 1849, 2209

. a4 PoRfRE ven jem A wit v ae &

et § 1 o weifie el & SR A

529, 841, 961, 1296, 1681, 1849, 2209

A 129
B. 841
C. 1849
D. 2209

45, The technique of inserting an
unpopular TV program scheduled
between two popular programs with
the hope thatvxewers will watch it is
known as

45. 9 Tfira FwfEe & 4 FfRe v
g AR sriwpy B gy aulig ¥
Y g B3 #1 dodls B o
T, W FEI TR

A. Blending

B. Linkage
C. Hammocking
D. Twisting

46. Pride is to the lion as shoal is to

A. Teacher
B. Student
C. Fish

D. Self-respect

47. A cube painted red on all faces is cut
into 27 smaller cubes of equal sizes.
How many cubes are painted on two
sides? ~

47. Bt A W W & | W0 gen ww
WER SR ¥ 27 DI U7 § B1ET F1aT
PR PO REIT Y

oNnw>
==




48.1f the two hands in a clock are Ry

minutes division apart, then the angie
between them is

48 3% e ud # 4 gy 3 e @1
| Ry sem 8, A s e

A 30

B 18
C. 240 .
D, 6

49, Select the correct combination of
mathematical signs to replace * signs
and to balance the following equation.

Hr7IB1812

49, * gl @ et o523 oIk Prfef@a
i ) Hgf avA & R nieda

il e g e Sl

A+ =X
B. X =% #
C += & x
D =4+ = %

50. If today is Monday the day after 66
days will be

50. 3R 319 WA 8 a6 o s w1 R
S e '

A. Tuesday
B. Wednesday
C. Thursday
D. Friday

Part 111
Numerical Aptitude

51. In the equation 6x - 5 = 4x + 9, what is
the value of x?

51, YT 6x - 5 = 4x + O H, x BT HH &1
&

- A7
B. 14
¢ ¢
oy

52. An article is sold for Rs 595 at a loss of
15%. What should be the selling price
if the profit is 20%? :

52, W% T 15% ¥ FHUF W 595 F9A F
¥t ol &1 ok Wy 20% hitﬁm'
e BT TR .

A. 700

B. 805

C 80
" D. 840

53, If the ratio of boys to girls in a class is

344, and there are 28 girls, how many
boys are there?

53. Uk U@ wan H wgS! B wgleul §

3R 3:4 8, 3R 28 WeReHt §, A fray
L

ame
BeR

D. 36

54. What is the area of a trapezoid with
base&l?emmdmcmandahughtof
8 em?

54,1297 3R 16 ¥ W SR SR s QA F
' Faré o GHeREIeR B AN T8




A. 104 cm?
B. 112em2
C. 80 cm?
D. 9% cm?

55. What is the mean of the numbers 12,
17, 21, 26, and 34?

55, W& 12, 17, 21, 26 3R 34 T 7T Fq1
3

AR
B. 26
C 2
D. 28

56, If the cost of 5 pens and 7 pencils is Rs
50, and the cost of 7 pens and 5 pencils
is Rs 46, what is the cost of one pen?

56. & 6 B 3R 4 Wrer 7t o 18 30
- % 3R 3 99 IR 2 Wy &) e 8 T
(ARG R ER IR G

A. Rs2
B. Rs3
C. Rs4
D. Rs5

57. A bag contains 14 balls of which x are
white. If 6 more white balls are added
to the bag, the probability of drawing
a white ball becomes half. Find the

- value of x.

57. wiﬂﬂmﬂuﬂ%%ﬁm%xm

B &1 3R ¥ H 6 ok Ty N =
ok § @ % g 3 Ee v
et 8 oielt B 1 x 1 1 1 P

A2
812
C 4
D. 8

58. The penmeter of a rectangular garden
is 40 meters, and its length is 3 times
its width, What are the dimensions of
the garden?

58. T AR IUH 3} afefd 40 Hiex B,

WMMWM3@1$;
iR ¥ srman e

A. Length = 15 meters, Width = 5 meters
B. Length =12 meters, Width = 4 meters
C. Length =18 meters, Width = 6 meters
D. Length =9 meters, Width =3 meters

59. Tom invested Rs 5,000 in a bank
account that eamns 4% interest
compounded annually. How much
interest will he earn after 3 years?

59. T 7 0% 3% @ A 5,000 9 H7 Adw
T, 5 vt 4% Sy s off
1 1 3 9 A1 98 fra e
SH?

A. 5600
B. 5264
C. 5624
D. 5462

60. The point of intersection of the

perpendicular bisector of the sides of

the triangle is termed as :
w."Waﬁgmﬁrﬁmeéi

R fg s wE o

B |

A. Centroid

B. Trisection

C. Incenter

D, Circumcenter




6l.

61.

Ram, Kumar and Santhosh can

complete a work in 25 days. Kumar
and Santhosh can complete the same

work in 30 days. In how many days

‘Ram alone can complete the same

work?

7, PR AR AW 25 A & ws I
W H WP §1 PAR R Giw @ #
19 1 30 37 & @ % g@a §) I

-y R Rl F oM el B qm R

w2

A. 60

B. 150
C. 100
D. 145

62.5implify

62,5361 T

+ S P +’X.

8*4+2—(6x84-2)~r(7x4—2+2)

A. 11/8
B. 5/8
s

. D. 15/8

.Ifﬂwesumoftwbmmxbersxsﬁmd

M&fﬁmm9 whatmﬁwtwo
numbers? :

e 2 sl 1 5 § o

o o &, A et ¥

A 29,16
B 232
C. 2718
D. 29,20

64. The population of a city is 5,00,000 and
_ it grows at a rate of 3% per year. What

10

will be the population of the city after
five years?

64. T WER P ST 5,00,000 B, 3R TE
_ufa ad 3% @ @ | Tl 31 UiE I

e YR ) srare) frae anfre

A 5,30450

B. 5, 65,000
C. 546,364

D. 579,638

. A store offers a 10% discount on an

item, and then a 20% discount on the
reduced price. If the original price of
the item was Rs 100, what is the final
price after both the discounts?

. 0 ¥R 5 o W 10% F g weE '

HAl €, 3R O o0 g W 20% 3

e WaT Wl 81 A TG ) O e

100 0% of, 4@ N g & @ sifow

F
A. %0

onw
I3

66. In a nursery bed there are 33 bamboo
plants in the first row; 31 in the

second; 29 in the third and so on
row. How many rows are there in the
mrmybed?

mmasm:ummmmas |

o & gt & 31; A H 29 R T
e ifem dfta 7 7w & 9 {1 =
%ﬁm%&

A 13

B4

C.an

P




67. A father is currently three times as old
as his son. In 8 years, he will be twice
as old as his son. What are their
current ages?

67. 7 fRren At o &2 A e A
818 91 # I 3w P R F A
& oot 39 sdm s

ALY
B. 24,8
C 45,15
D. 30,10

68, Let x is the smallest number between
70000 and 75000 which when divided
by 225, 250 and 275 leaves remainder
61 in each case. Find the sum of the
digits of x.

68. HF AT x, 70000 3R 75000 F e
T B e § R 225, 250 3R 275
B fawifore 33 R ude @ B 61 Ay
&1 x ¥ 3! &1 dvr 3ra P

Al 16
B. 21
32
D 29

69. A juice seller was serving his customers
using cylindrical glasses with the bottom
having a hemispherical raise. The inner
~ diameter of the cylindrical glass is 5 cm. If
the height of the glass is 10 cm,ﬁndthe

- actual capacity of the glass.

69. U S fathar AR us! B FTTER

B BT JUAT BI® JaT S W@ U,
Red 9 Tl A e @ oW

PR FF P ffale o9 5 | o

R st Su 0ARE Do

& arafe a3 SR

11

196.25 cm’
163.54 cm’®
169.50 cm®’
18645 cm’

vowy

70. A tangent PQ at a point P of a circle of
radius 5 cm meets a line through the centre
O at a point Q so that OQ = 12 cm. Length
PQis

0 s PSSR F R R
U R pQ $% 0 F T } w
g Q W v T @ vt @ ¥ 00 =
12 80 811 pQ Pt e Fr @

A. Rom
B. 13¢em
C. 85¢em
D. 109¢cm

71. A lending library has a fixed charge
for the first three days and an
additional charge for each day
thereafter. Ajay paid Rs 45 for a book
kept for nine days, while Anil paid Rs
27 for the book he kept for 6 days.
Find the fixed charge and the charge
for each extra day.

71. U JUR 37 99 Gy B ugd dF
et % o o Pifde g ok oo
1 vl o ¥ Ry e ofifas ge
g #1 oo A A R e
e & R 45 F92 B yam R,
v 39 7 6 R oo @ o &
forg 27 392 &1 vy R P e
mmtmmwm

r

A 18,9
B 9,6
C. 18,6
D 63




72. A staff of 1.5 m tall is 155 m away 75 If% ofanumberequals%f;%, what is
from a tree. The angle of elevation of e e ?
the top of the tree from his eyes is 600. : ;
What is the height of the tree? qﬁmmW.. _+...asma
72. UF U% W 1.5 Hiex da1 g SHAR 155 i
ez R 1 St 3ifEl & Ug i A1 &1 A. 64
- 3T B 600 §1 A A A feerl B 16
% C 2
DX
A 242m
B. 255m
; Part IV
o el General Awareness
D. 283 m
| } 76. Which of the following is/are referred
73. If the speed of a boat is 4 km/hr in still as the Bretton Woods Institutions.
water and the speed of the stream is 2 1. International Monitory Fund
km per hour. If the boat takes 8 hours - (IMB). ;
to go to a place and come back, then 2. World Trade Organization (WTO).
.what is the distance of the place? 3. World Bank.
73. of felt @ @ iy R urk A 4 76%#@%%@:!@@%
foedt/ e 8 R R @t 1R 2 fret wfy . wﬁmmt/m '
 d R R AR YA RO R
1 B 718 1 8 ¥ BT 9y T, @ 1 Wﬁmmwﬁ i
. 3R B gl e & 2. fay =R wEE (WT0)
3 s
A 12dem T A. lonly
B. 9km : B. 1and2only
C. 18km \ _ C. 2and 3only
D. 15km D land3only
7 - (1291 T mﬁieswndomh\a&dbylmimhn
{077 - 5 £ : the eighteenth century. -
IRa g rOat 2. The American Civil War resulted
: ' mﬁ\ewduc&onofcotwnexpom
A 025 from India.
B 075 ; :
i v 7. Pt & AP A T R
12




1. BRE W 9% YRA d aftw
Tl & Ry st aoR W e
T

2. 3R TegE ¥ aivmRasy yRa
q wur ¥ Fafa d e ord)

A. 1only

B. 2Zonly

C. Bothland?2
D. Neither 1 nor 2

78. Which of the following is not a macro
nutrient of the plant?

78. Faftf@a & ¥ 917 9 o1 wy@ dve
GLgiif

79. What does “Agenda 21” adopted

during Earth Summit, 1992 mean?

A. It is an agreement between 21
developing countries of the world
on climate change.

B. It is 21 goals with which the
countries come up with action plan
for sustainable development, :

C. It is a program of action calling for
new strategies to invest in the future

to achieve overall sustainable

development in the 21st century.

D. None of the above.

79. gull R, mzasgmammmz

21" BT T 3y

13

81.

82.

B, m%mtmh%mmm ‘

ST QST FH9T T |

C 98 0 d 9 ¥ Iy vad Rew
mﬁ%mmﬂmma
forg =€ Yor it @1 smg B areht
PRATE P US BB B

D. IR A A P1E 7

. Which is the first state in India that has

made rooftop rainwater harvesting
structure compulsory to all the houses
across the state?

. HRA &1 UET I50 BF W & PR awy

W & ot W} A 39 W anf o daua
) a5t sifard o R

A. Kerala

B. Andhra Pradesh
C. Tamil Nadu

D. Telangana

- "Madurai kandam” is a part of which

of the following south Indian
Literature?

gk wheT PuRifRE A frg 2R
R Wit w1 R &y

A. Ponniyin Selvan
B. Manimegalai
C. Thirukural

D. Silappathikaram

The climate of India can be best
describesas ;

A. Desert type

B. Mediterranean type

C. Tropical monsoon type
D. Sub-tropical monsoon type




82. YNG P SO B TR st T

FwEudfpoaramae |

A, XA $1 TPR

B. YHHNPRIT UER

- C. IUmRENT HEYT TER
- D. IR wERH WER

83. Which of the following neighbouring
countries has better performance in
terms of human development than
India?

83, Prufefaa & 8 5w
gwmismﬁ

A. Bangladesh
B. Sri Lanka

- C. Nepal

D. Pakistan

farg wERh 3w %1 AFE
YRE ¥ eR wTH

84. Which of the following endocrine
glands produces growth hormone
releasing factor?

54, Prffle & @ B9 @ sl dREt A
32 gnif v sr® gl 2

A, Pituitary gland

B. Pineal gland

C. Hypothalamus gland
D. Thyroid gland

85. How pure metal of high reactivity is
extracted from their ores?

g5, 3= wRafrordea @ TS
M%ﬁmtw -

‘A Calcination
Roastmg

C Electrolysis.

D. Reduction

. The World Development Report is
- published by

14

g6,y Rerg R g vl &t
ni% l
A, World Economic Forum
B. World Bank

C. International Monetary Fund
D. Asian Development Bank

87. Which of the following statement '
about Goods and Servnce Tax (GST) is
correct?

1. GST is applicable only on the supply
of Goods and Services, - '

2. Computers, printers and stationery
are exempted from the purvievv of
GSI‘.

87, 759 Uz offw e (gsT) B @R A

* Fafifea # S PH W 9

1. e e gl ke St |
3fef o= amp 8y

2 W fiiex WM&W
FITRIPCAER

A. 2only

B. 1only

C. Bothland2
D. Neither 1 nor 2

88. As per Indus Water Treaty 1960,

“which of the following is the third
level of  dispute  resolution
L ey :

A. Court of arbitration
Lo Neub‘almtpert ,
e PermamntmdusCommiamm
'D. Noneoftheabove
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89. Which of the following is termed as
“Urea-Gold”
A. Neem co&ged urea
B. Nano urea
C, Liquid urea
D. Sulphur coated urea

wﬁﬁ%ﬁaﬁﬁmmﬁ@m
R |
A Hin afta g
B. i gfan

C. Tmgia
D. HewR Afta g

90. Plagiarism means

A. An epidemic of plague in the area.

B. Political philosophy.

C. Presenting other's work as one’s
own.

D. Happy community spirit.

90. Plagiarism 37 314 § ?

A & H @ Herrd
B. oo axf 4
C. mﬁsmﬂmﬁmﬁm'

D. wwgmﬁwm
91. The phrase “Nature protects if she is

protected” is present in the logo
ok

15

AR “Nature protects if she is
protected” & o & ﬂf@?{
g

A. National Bio-diversity Authority
B. Ministry of Environment Forest

and Climate Change

C. International Union for
Conservation of Nature

D. Indian Council of Forestry
Research and Education

92.The unethical user interface designs

employed by companies on the internet
to manipulate user choices for financial
gains is termed as

o2, frda amy ¥ forg Tudesef Rt 3

R 71 & R Fexde w Hofnt
R Pl o TR geTtw
o ® wEwmre

A. Grey pattern
B. Dark pattern

C. Black interface
D. None of the above

- Which of the following in

collaboration with National Payment
Corporation of India has established
India’s first UPI-ATM?

PR # & fed urda

mhn%m%mmm
UPL-ATM ®fta fran &7

A. Hitachi Payment Services
B. Airtel Payment Bank

C. Paytm Payment Bank

D. Amazon Pay

94. As per the National Institute Ranking

Framework (NIRF) 2023, which of the
following institutes ranked number
one under overall category?




:

%w@u RE Y Wmﬁ
(HEIRTE) 203 F IR,
Pofefas 4 & o= w1 gwm wwy I
& TEd AR S WH R Y

A. Indian Institute of Science,
Bengaluru.

B. Indian Institute of Technology,
Madras.

C. All India Institute of Medical

D. Miranda House, New Delhi.

95. What does E20 fuel contain?
95. p20 S e g &2

- . A. 20 % Ethanol, 80 % Diesel
B. 20 % Ethanol, 80 % Bio-diesel
C. 20 % Ethanol, 80 % Petrol
D. 20% Ethanol, 80 % Kerosene

96. Which State has been ranked No. 1 in

- Export Preparedness Index (EP!) by
Niti Ayog for 2022? '

96. 2022 ¥ fome A amdv g Prafa o

gawie @) # frw T @ FW 1
Ty oo &2

A. Tamil Nadu
B. Maharashtra
C. Gujarat
D. Karnataka
97. What is the momentum of an object of
. mass m, moving with the velocity of
v?

97. vV & A7 § REM m FSORE Y 9% BT
w7

A, (owp
Bt

C. Yamv?

D. mv

98 In which part of the cell, the protein
. molecules are produced?

98. W&Mmﬂmmm
e

A. Ribosomes

B. Lysosomes

C. Mitochondria
D. Golgi apparatus

99. Which among the following process

helps in the absorption and upward
movement of water and minerals
‘dissolved in it from roalx to the
leaves?

90. Pufefla & ¥ @ @ whrw o @
Ry 7 grh ok ERe B
mmmmwﬂmmv

A Trmlocaﬁm
B Transpiration

C. Photosynthesis
D Glycolysis

100.  What was the position held by Dr.

Radhakrishnan before he became Vice-
thdenmfindm?

A Ambassador to USA
B. Chairman, UGC
D. Ambassador to Soviet Union

100, WRE ¥ TP W ¥ 0ed o
Ty A e fRufa F yro fasar ur?

A UgFa U e & oiga
B. ey, goieR

. C. ey, Qo] ARt

. Wifge v H TR
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